Izračunaj.
1 000 – 632 : 2 – 38 · 6 
= _____________________________________________
= _____________________________________________
= _____________________________________________

890 : 10 · 3 + 972 : 9 : 4 
= _____________________________________________
= _____________________________________________
= _____________________________________________

408 : 8 + 384 + 108 : 3 
= _____________________________________________
= _____________________________________________
= _____________________________________________
= _____________________________________________
= _____________________________________________

(734 – 399) + 46 · 5 – (603 – 587) : 2 
= _____________________________________
= ____________________________________
= ____________________________________
= ____________________________________

12 · 9 + 309 : 3 + (34 · 3 + 258) : 10 
= _____________________________________
= ____________________________________
= ____________________________________
= ____________________________________
46 + 264 + 99 : 3 – 675 : 9 + 32 · 9 
= _____________________________________
= ____________________________________
= ____________________________________
= ____________________________________
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